
Error ≤ 11.5
gini = 0.5

samples = 432
value = [218, 214]

class = fake

fleschScore ≤ 0.476
gini = 0.484

samples = 329
value = [194, 135]

class = fake

True

punctuations ≤ 13.5
gini = 0.357

samples = 103
value = [24, 79]

class = legit

False

wordCount ≤ 132.5
gini = 0.496

samples = 285
value = [156, 129]

class = fake

Suggestion ≤ 1.5
gini = 0.236

samples = 44
value = [38, 6]
class = fake

punctuations ≤ 10.5
gini = 0.5

samples = 239
value = [121, 118]

class = fake

punctuations ≤ 14.5
gini = 0.364

samples = 46
value = [35, 11]

class = fake

Error ≤ 4.5
gini = 0.466

samples = 92
value = [58, 34]

class = fake

Polarity_pos ≤ 0.141
gini = 0.49

samples = 147
value = [63, 84]

class = legit

Polarity_pos ≤ 0.011
gini = 0.295

samples = 50
value = [41, 9]
class = fake

uniqueWords ≤ 7.0
gini = 0.482

samples = 42
value = [17, 25]

class = legit

gini = 0.0
samples = 2
value = [0, 2]
class = legit

ariScore ≤ 40.831
gini = 0.249

samples = 48
value = [41, 7]
class = fake

fogScore ≤ 35.101
gini = 0.48

samples = 5
value = [2, 3]
class = legit

fleschScore ≤ -39.817
gini = 0.169

samples = 43
value = [39, 4]
class = fake

gini = 0.0
samples = 2
value = [2, 0]
class = fake

gini = 0.0
samples = 3
value = [0, 3]
class = legit

wordCount ≤ 106.5
gini = 0.469
samples = 8
value = [5, 3]
class = fake

Polarity_pos ≤ 0.19
gini = 0.056

samples = 35
value = [34, 1]
class = fake

fleschScore ≤ -48.523
gini = 0.375
samples = 4
value = [1, 3]
class = legit

gini = 0.0
samples = 4
value = [4, 0]
class = fake

gini = 0.0
samples = 1
value = [1, 0]
class = fake

gini = 0.0
samples = 3
value = [0, 3]
class = legit

gini = 0.0
samples = 32
value = [32, 0]
class = fake

Polarity_pos ≤ 0.205
gini = 0.444
samples = 3
value = [2, 1]
class = fake

gini = 0.0
samples = 1
value = [0, 1]
class = legit

gini = 0.0
samples = 2
value = [2, 0]
class = fake

gini = 0.0
samples = 4
value = [4, 0]
class = fake

Error ≤ 9.5
gini = 0.45

samples = 38
value = [13, 25]

class = legit

punctuations ≤ 8.5
gini = 0.487

samples = 31
value = [13, 18]

class = legit

gini = 0.0
samples = 7
value = [0, 7]
class = legit

Error ≤ 5.5
gini = 0.337

samples = 14
value = [3, 11]
class = legit

Polarity_neg ≤ 0.047
gini = 0.484

samples = 17
value = [10, 7]
class = fake

gini = 0.0
samples = 2
value = [2, 0]
class = fake

wordCount ≤ 107.5
gini = 0.153

samples = 12
value = [1, 11]
class = legit

gini = 0.0
samples = 9
value = [0, 9]
class = legit

wordCount ≤ 109.5
gini = 0.444
samples = 3
value = [1, 2]
class = legit

gini = 0.0
samples = 1
value = [1, 0]
class = fake

gini = 0.0
samples = 2
value = [0, 2]
class = legit

capital ≤ 1.5
gini = 0.42

samples = 10
value = [3, 7]
class = legit

gini = 0.0
samples = 7
value = [7, 0]
class = fake

gini = 0.0
samples = 6
value = [0, 6]
class = legit

Polarity_neg ≤ 0.011
gini = 0.375
samples = 4
value = [3, 1]
class = fake

gini = 0.0
samples = 3
value = [3, 0]
class = fake

gini = 0.0
samples = 1
value = [0, 1]
class = legit

Error ≤ 5.5
gini = 0.467

samples = 121
value = [45, 76]

class = legit

Polarity_neg ≤ 0.038
gini = 0.426

samples = 26
value = [18, 8]
class = fake

Head_Polarity_pos ≤ 0.118
gini = 0.339

samples = 60
value = [13, 47]

class = legit

Subjective ≤ 0.5
gini = 0.499

samples = 61
value = [32, 29]

class = fake

Head_Polarity_pos ≤ 0.056
gini = 0.411

samples = 45
value = [13, 32]

class = legit

gini = 0.0
samples = 15
value = [0, 15]
class = legit

fleschScore ≤ -13.805
gini = 0.381

samples = 43
value = [11, 32]

class = legit

gini = 0.0
samples = 2
value = [2, 0]
class = fake

Suggestion ≤ 0.5
gini = 0.298

samples = 33
value = [6, 27]
class = legit

ariScore ≤ 42.21
gini = 0.5

samples = 10
value = [5, 5]
class = fake

fogScore ≤ 50.14
gini = 0.444
samples = 3
value = [2, 1]
class = fake

uniqueWords ≤ 8.0
gini = 0.231

samples = 30
value = [4, 26]
class = legit

gini = 0.0
samples = 2
value = [2, 0]
class = fake

gini = 0.0
samples = 1
value = [0, 1]
class = legit

gini = 0.0
samples = 1
value = [1, 0]
class = fake

Polarity_compound ≤ 0.923
gini = 0.185

samples = 29
value = [3, 26]
class = legit

punctuations ≤ 18.5
gini = 0.133

samples = 28
value = [2, 26]
class = legit

gini = 0.0
samples = 1
value = [1, 0]
class = fake

gini = 0.0
samples = 23
value = [0, 23]
class = legit

punctuations ≤ 21.5
gini = 0.48

samples = 5
value = [2, 3]
class = legit

gini = 0.0
samples = 2
value = [2, 0]
class = fake

gini = 0.0
samples = 3
value = [0, 3]
class = legit

gini = 0.0
samples = 2
value = [0, 2]
class = legit

wordCount ≤ 95.0
gini = 0.469
samples = 8
value = [5, 3]
class = fake

gini = 0.0
samples = 3
value = [3, 0]
class = fake

punctuations ≤ 16.5
gini = 0.48

samples = 5
value = [2, 3]
class = legit

gini = 0.0
samples = 3
value = [0, 3]
class = legit

gini = 0.0
samples = 2
value = [2, 0]
class = fake

uniqueWords ≤ 9.5
gini = 0.49

samples = 56
value = [32, 24]

class = fake

gini = 0.0
samples = 5
value = [0, 5]
class = legit

fleschScore ≤ -33.166
gini = 0.278

samples = 12
value = [10, 2]
class = fake

Polarity_neu ≤ 0.888
gini = 0.5

samples = 44
value = [22, 22]

class = fake

gini = 0.0
samples = 1
value = [0, 1]
class = legit

Polarity_pos ≤ 0.064
gini = 0.165

samples = 11
value = [10, 1]
class = fake

fogScore ≤ 46.359
gini = 0.444
samples = 3
value = [2, 1]
class = fake

gini = 0.0
samples = 8
value = [8, 0]
class = fake

gini = 0.0
samples = 2
value = [2, 0]
class = fake

gini = 0.0
samples = 1
value = [0, 1]
class = legit

ariScore ≤ 53.48
gini = 0.463

samples = 22
value = [14, 8]
class = fake

punctuations ≤ 14.5
gini = 0.463

samples = 22
value = [8, 14]
class = legit

Polarity_neu ≤ 0.87
gini = 0.444
samples = 9
value = [3, 6]
class = legit

Suggestion ≤ 1.5
gini = 0.26

samples = 13
value = [11, 2]
class = fake

Head_Polarity_neu ≤ 0.521
gini = 0.245
samples = 7
value = [1, 6]
class = legit

gini = 0.0
samples = 2
value = [2, 0]
class = fake

gini = 0.0
samples = 1
value = [1, 0]
class = fake

gini = 0.0
samples = 6
value = [0, 6]
class = legit

gini = 0.0
samples = 9
value = [9, 0]
class = fake

fleschScore ≤ -40.183
gini = 0.5

samples = 4
value = [2, 2]
class = fake

gini = 0.0
samples = 2
value = [0, 2]
class = legit

gini = 0.0
samples = 2
value = [2, 0]
class = fake

fogScore ≤ 54.552
gini = 0.198
samples = 9
value = [1, 8]
class = legit

Error ≤ 7.5
gini = 0.497

samples = 13
value = [7, 6]
class = fake

gini = 0.0
samples = 8
value = [0, 8]
class = legit

gini = 0.0
samples = 1
value = [1, 0]
class = fake

Head_Polarity_neu ≤ 0.643
gini = 0.32

samples = 5
value = [1, 4]
class = legit

Polarity_neu ≤ 0.902
gini = 0.375
samples = 8
value = [6, 2]
class = fake

gini = 0.0
samples = 1
value = [1, 0]
class = fake

gini = 0.0
samples = 4
value = [0, 4]
class = legit

Polarity_neu ≤ 0.892
gini = 0.444
samples = 3
value = [1, 2]
class = legit

gini = 0.0
samples = 5
value = [5, 0]
class = fake

gini = 0.0
samples = 1
value = [1, 0]
class = fake

gini = 0.0
samples = 2
value = [0, 2]
class = legit

Head_Polarity_compound ≤ -0.013
gini = 0.5

samples = 16
value = [8, 8]
class = fake

gini = 0.0
samples = 10
value = [10, 0]
class = fake

gini = 0.0
samples = 4
value = [0, 4]
class = legit

Polarity_neg ≤ 0.025
gini = 0.444

samples = 12
value = [8, 4]
class = fake

fogScore ≤ 42.878
gini = 0.198
samples = 9
value = [8, 1]
class = fake

gini = 0.0
samples = 3
value = [0, 3]
class = legit

gini = 0.0
samples = 1
value = [0, 1]
class = legit

gini = 0.0
samples = 8
value = [8, 0]
class = fake

Polarity_neu ≤ 0.85
gini = 0.499

samples = 19
value = [10, 9]
class = fake

punctuations ≤ 20.5
gini = 0.137

samples = 27
value = [25, 2]
class = fake

Polarity_neu ≤ 0.798
gini = 0.346
samples = 9
value = [2, 7]
class = legit

Error ≤ 5.5
gini = 0.32

samples = 10
value = [8, 2]
class = fake

gini = 0.0
samples = 2
value = [2, 0]
class = fake

gini = 0.0
samples = 7
value = [0, 7]
class = legit

wordCount ≤ 144.0
gini = 0.444
samples = 3
value = [1, 2]
class = legit

gini = 0.0
samples = 7
value = [7, 0]
class = fake

gini = 0.0
samples = 2
value = [0, 2]
class = legit

gini = 0.0
samples = 1
value = [1, 0]
class = fake

gini = 0.0
samples = 21
value = [21, 0]
class = fake

ariScore ≤ 78.459
gini = 0.444
samples = 6
value = [4, 2]
class = fake

gini = 0.0
samples = 2
value = [0, 2]
class = legit

gini = 0.0
samples = 4
value = [4, 0]
class = fake

punctuations ≤ 15.5
gini = 0.102

samples = 37
value = [35, 2]
class = fake

Polarity_pos ≤ 0.13
gini = 0.49

samples = 7
value = [3, 4]
class = legit

gini = 0.0
samples = 33
value = [33, 0]
class = fake

capital ≤ 1.5
gini = 0.5

samples = 4
value = [2, 2]
class = fake

gini = 0.0
samples = 2
value = [2, 0]
class = fake

gini = 0.0
samples = 2
value = [0, 2]
class = legit

gini = 0.0
samples = 4
value = [0, 4]
class = legit

gini = 0.0
samples = 3
value = [3, 0]
class = fake

gini = 0.0
samples = 31
value = [0, 31]
class = legit

Error ≤ 20.5
gini = 0.444

samples = 72
value = [24, 48]

class = legit

fleschScore ≤ -91.163
gini = 0.497

samples = 48
value = [22, 26]

class = legit

Polarity_pos ≤ 0.033
gini = 0.153

samples = 24
value = [2, 22]
class = legit

gini = 0.0
samples = 6
value = [6, 0]
class = fake

Polarity_pos ≤ 0.094
gini = 0.472

samples = 42
value = [16, 26]

class = legit

Polarity_pos ≤ 0.011
gini = 0.278

samples = 18
value = [3, 15]
class = legit

Polarity_neg ≤ 0.032
gini = 0.497

samples = 24
value = [13, 11]

class = fake

gini = 0.0
samples = 1
value = [1, 0]
class = fake

Suggestion ≤ 1.5
gini = 0.208

samples = 17
value = [2, 15]
class = legit

gini = 0.0
samples = 10
value = [0, 10]
class = legit

uniqueWords ≤ 12.0
gini = 0.408
samples = 7
value = [2, 5]
class = legit

gini = 0.0
samples = 4
value = [0, 4]
class = legit

fogScore ≤ 65.237
gini = 0.444
samples = 3
value = [2, 1]
class = fake

gini = 0.0
samples = 2
value = [2, 0]
class = fake

gini = 0.0
samples = 1
value = [0, 1]
class = legit

Polarity_pos ≤ 0.139
gini = 0.346
samples = 9
value = [2, 7]
class = legit

Polarity_neu ≤ 0.766
gini = 0.391

samples = 15
value = [11, 4]
class = fake

Polarity_pos ≤ 0.125
gini = 0.5

samples = 4
value = [2, 2]
class = fake

gini = 0.0
samples = 5
value = [0, 5]
class = legit

gini = 0.0
samples = 2
value = [0, 2]
class = legit

gini = 0.0
samples = 2
value = [2, 0]
class = fake

Polarity_compound ≤ -0.512
gini = 0.375
samples = 4
value = [1, 3]
class = legit

fogScore ≤ 62.548
gini = 0.165

samples = 11
value = [10, 1]
class = fake

gini = 0.0
samples = 1
value = [1, 0]
class = fake

gini = 0.0
samples = 3
value = [0, 3]
class = legit

gini = 0.0
samples = 10
value = [10, 0]
class = fake

gini = 0.0
samples = 1
value = [0, 1]
class = legit

gini = 0.0
samples = 1
value = [1, 0]
class = fake

Polarity_compound ≤ 0.991
gini = 0.083

samples = 23
value = [1, 22]
class = legit

gini = 0.0
samples = 22
value = [0, 22]
class = legit

gini = 0.0
samples = 1
value = [1, 0]
class = fake


